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Introduction

Since | started playing Mahjong, | have always wished there were more
literature about Mahjong theory — especially for MCR (Mahjong Competition
Rules), which is the rule set | personally prefer. Here is my contribution to
filling that void.

| have assumed that you as a reader already have a basic knowledge of MCR
and it’s scoring system, so | will not explain that further in this book.

This book is a set of 16 hands where | have collected and condensed the
discussions between myself and my fellow club members in Uppsala Mahjong.
It was inspired by Morten Andersen who started discussing Riichi hands with
the Danish players, and | wanted to do something similar for MCR.
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The format of the book is that we follow a “real” game of between four
players: A, B, C(=us), and D, and every time we get to an interesting choice we
stop for a question, followed by an “answer” — or at least a discussion about
the possible options, since there might not be a clear correct answer to each
situation. This Q&A format is what we used in the group discussions, and |
decided to keep that also for the book.

| have played the other three hands but tried to do so without using the
knowledge about the hidden tiles, and the same goes for the discussions.
Sometimes when the choices are rather obvious, | have skipped a few turns in
order to focus on the interesting situations.

Mahjong is a game of incomplete information and in many cases, there are no
clearly correct or wrong answers — more a matter of playing style. So bare with
me and understand that it in many ways are influenced by my own personal
preferences. In my opinion, in every situation there might always be one choice
that is slightly better than the others, even if the difference is marginal, and if
you make the right decision in those situations, you will improve your results in
the long run.



Mahjong is also a game of speed, so you will not have time to fully analyze
every situation at the table. Therefore it is useful to analyze the situations
afterwards if possible, like | have done here, in order to get a better intuition
for similar situations at the table.

The scoring system of MCR rewards speed before greed, i.e., in most situations
it is better to go for a fast and cheap Mahjong instead of something more
expensive. Therefore, | have in most hands focused on the fastest way to get
to an 8-point Mahjong.

The things to consider when making your decisions will in most cases depend
on the following aspects: 1) How far are you from ready? 2) How many of the
tiles that you need are available, and how likely is it that your opponents will
discard those?, and 3) How dangerous are the tiles you need to discard? |
suggest that you keep these things in mind when answering the questions.

Enjoy!

This work can be freely distributed under the CC BY-NC-SA 4.0 license.  © Petter Ranefall 2020
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@ East started by discarding [# and South punged it. Then South discarded ).
/4

Shall we make a chow?
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No, it is too early to open the hand. We don’t know in which direction this
A hand will go.
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@ Instead we picked [#. What shall we discard?
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The best plan is probably to discard the honor tiles and see how things
develop. Since we know that we don’t want to keep the honor tiles it is
best to start with the non-played ones first, because it is better that an
opponent makes a pung from us rather than from someone else since then
we might lose a turn. Here %] is a good choice.
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We discarded our honor tiles and then some more honor tiles that we got.
We have also picked a couple of useful tiles: ;] and . Meanwhile East has

made a chow E&[. Then we picked [§). What shall we discard?
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Now we have come closer to either Outside hand or Mixed triple chows.
does not fit in this plan, so let’s discard it.
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We picked the last [£]. Shall we make a Kong, or what shall we do
@ otherwise?
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No. If we make a Kong now, we will destroy our potential Mixed triple
chows, and also the possibility to use as a pair. Instead we should
discard one of the 3s — but which? %] looks more dangerous since South
might go for Half flush. (But maybe it might be better to discard it before
South is waiting?) Well, let’s discard [
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@ Next time we picked (]. What shall we discard?
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If we think %) is too dangerous to discard, then we need to build our hand
A around it. Outside hand is still an option, but we could also do a concealed

hand with small points. | does not look that dangerous so let’s discard it.
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Then followed two laps when we picked and discarded [] and [it.
@ Meanwhile North and South have discarded one || each and East has made

a chow =[®[}]. Then we picked [@. What shall we discard?
T/
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Since North recently discarded (] and 3 [£] are gone, [&] looks quite safe and
also the chance of getting a chow is quite small, so we play it safe by
i discarding ().
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Oops, South discarded the last [£)! That would have been nice to be able
@ to chow — if we had discarded (3] or (}] instead of [&). Instead we picked [§].
/4

What next?
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Now the only realistic chance is to do Fully concealed + Concealed kong +
A& Terminal pung + No honors. Thus, we can make the kong now and see

what we will get.
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We did the kong and picked [ffj as replacement tile. What shall we discard
@ now?
/4
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Now it is probably best to abandon the hand and make a safe discard. Since
A& North just discarded (3], that should be the safest.
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We discarded (2] and the game ended by East discarding & to Norths Mixed
shifted chows.

Analysis: We got some difficult situations, and maybe did not make the
best choices, but at least we managed not to discard the winning tile.

As we suspected from the discards, South was going for a Half flush, and
since none of the [/ had been discarded, that looked like a dangerous tile.
However, in this case it would not have given South the Mahjong, but
instead a possibility for South to make a Kong and thus get the extra point
needed for 8 points. It was way more difficult to figure out what East and
North were doing, so this is worth thinking about when you go for Half
flush.



Round 1:18

Scores after hand 1

MW H.n:-un:ll 1 |'r.:.u|=| 1 |
Player 1 Player 2 Player 3 Player 4
I T 0
:%:. .'q; ‘é ,E. .5 H_S Jt ]:‘ [oniy neTeee nesded |
L 1 L L 1
Vil e e Gemra Lemen Lenmm Gemra o Istatizn
1| 1 [[afl1 -19 -B -3 35 E3
, LIl
Total [] r"
-
il O _t
Total [ | ]
4 | | I
Total [ |
5 | | { | |3 | & |
Total I I | 1L
6 | LIl ] .,j
Total [ | =
i oo >
Total [ | %
8 | |
Total [ |
a | || . @ k &
Total | [ |
10 | 1L L] r"
= Total [ | J
2 lu [ 3
Total [ |
12 | | I
Total [ |
13 | | i & %
Total [ |
14 | LIl ]
3 Total [ |
15 | LIl ]
Total | [ |
16 | 1L L] |
Total | [ |
Penaltizs
Total
Table points




Hand 2
&|in %] Round



Round 2:1

T e
% =
= 3B
- =
= ] 85 =
= -
= =
= =
= &) =
= (%) %

HIHHHGHM T EEEGN

@ What is your opinion of the starting hand? What shall we discard?
/4
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We have some different possibilities: All types, Outside hand, Knitted and
honors, Mixed straight, Mixed shifted chows. In order to keep as many as
possible of those options open, we discard (3] (B is also an option in that
case, but that gives slightly less chance for Chicken hand).
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@ West discarded (%] and then North discarded [3t]. Shall we make a pung?
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No, | don’t think so. If we do that, the only options left are All types or
Outside hand. Besides, we risk having a 7-point hand, since a only
gives us one point. The hand is too flexible and too far away to do a pung
at this point. But | often see players pung as soon as they have a pair of
winds and a dragon on the side - or the other way around.
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@ We passed on the pung and instead we picked [. What shall we do now?
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Now we are one step closer to Knitted and honors. We can still keep some
of the other options open, e.g. All types or Mixed chows (straight/shifted).
i The choice is between [f] and [}, and | would prefer to discard [, since
for Mixed chows, but if we discard [, then

then we can use both (i and &
we cannot use .
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We discarded 4 and in the next two rounds we picked two uninteresting
tiles that we immediately discarded (] and [J)). Then we picked [#]. What is

the plan now?
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Our main options are to go for Knitted and honors or Pung + Pair + Knitted
straight. We can keep our pairs in pt| and [+ and keep both options by

discarding .



Round 2:9

T

® (o o
|l® @ &

oo |te |k
§® §® §® §®

L

. ®

% PU |os|ea| B _&

L

%

) We discarded i} and in the next two rounds we picked two uninteresting

tiles. Then we picked %) and we discarded [F]. After that we picked several

uninteresting tiles until we picked (). What is the plan now?
/4
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Now we need to decide between Knitted and honors or Knitted straight +
Pung + Pair. We have 12 tiles in both cases but there are only two & left,
which is needed for Knitted straight and no more 3t/ left, so we need two
specific tiles for that option. And we have a safe discard in t), so | would go
for Knitted and honors.
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We discarded [. Then we picked a [ that looked quite safe, so we dared to
discard it. Finally we picked a [ and since East just discarded [#], we dared
to get rid of the [¥| to get a wait. Unfortunately, the game ended by East
discarding |z] so that West could win.

Analysis: We had a tricky hand with some different options, but gradually
the hand turned into Knitted + honors, which could be a slow hand since
you need to pick many tiles yourself. The positive side is that you will get to
a triple wait when you get to the wait.

It was difficult to see what the others were waiting for, especially West who
hadn’t opened the hand.
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@ What is your opinion of the starting hand? What shall we discard?
/4
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| think it is best to get rid of the honor tiles and see how the hand
A& develops.
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We discarded our honor tiles and instead we picked another |2 and then
D). What shall we do now?
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There are several possible combinations: Knitted straight, Mixed shifted
chows, Mixed straight, Pure straight, Concealed hand + All Chows + All

i simples, All pungs. If we discard (%], then we keep all those options open
— except for All pungs, which probably is not so close anyway.
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@ We discarded (4], and after picking some uninteresting tiles we got [&.
/4

What shall we do now?
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We are 3 away from Knitted straight + chow + pair [£]£]. But for
that we need three specific tiles Z[®[f}

ourselves before we get to a wait. We are also 3 away from Concealed +
All chows + All simples, and then there are four tiles that we can use:
:ii[]2). In that case we need two extra points, e.g. Fully concealed,
Short straight, Mixed double chows or Closed wait. And it is also
possible to improve the hand into e.g. Mixed shifted chows or Mixed
straight. The extra points that the Knitted straight gives does not
compensate the fewer options. We can discard (% or [[J, but [§ is slightly
better since we keep the possibility for Mixed straight.
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@ We discarded [fJ. West made a pung of and then North discarded
/4

2). Shall we make a chow?
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No. Making a chow will lock ourselves to one specific combination —
A& either Mixed straight or Mixed shifted chows, depending on which chow
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Instead of making the chow, we picked |2 ourselves! What shall we do

now?
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The best chance is still Concealed + All chows + All simples, and thus we
don’t have any use for (4. Further, there are still possibilities to improve
the hand.
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@ After a couple of rounds North discarded [ii. Shall we make a chow?
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If we make the chow E&[53[l] and discard 2], we have a wait for 8 points:
All chows (2) + All simples (2) + Short straight (1) + Mixed double chows
i (1) x 2 + Closed wait (1), so this is the perfect tile for us to chow and get
to a wait.
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We did the chow and discarded [£]. Next round we picked (£,
which we discarded immediately, and South made a pung. Then West
discarded |::| so that we could make a Mahjong.

- = —

Analysis: We had a flexible hand, and in the end, we could go for a hand
with small points. It is important to be able to count the small points so
that you can be sure to get 8 points.
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@ What is your opinion of the starting hand? What shall we discard?
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We have a chance to make something in Characters, e.g. Pure straight or
Pure shifted chows. Other options are to do Concealed + All chows + All
simples, or some Mixed chows combination. All types is also a possibility.
Let’s start by discarding [#, and see how things develop.




e el
=
=
=
%
% 79
| =
|
=

=

550

@ Next, we picked [z]. What shall we do now?
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@ West discarded [£]. Do we want to make a chow?
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No, then we will destroy two of our ready chows, and we risk that it will be

obvious that we play Mixed straight. It is better to keep the hand
concealed for the moment.
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@ Instead we picked . What shall we discard?
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Q We have pairs in both [} and [&], so we can get rid of both the [&].
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While discarding the two [&], we first picked [[l] and then [F). What shall
we discard now?
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Q It looks more and more like All simples, so we don’t have any use for (&).

might still be useful for Mixed shifted/triple chows, so we can keep it for
now.
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@ East chowed our [&]. Next time we picked [%). What shall we discard?
/4



Round 4:12

O

I

GGG

e D P
2

AlHEEHEABHA

In order to continue with the plan of Concealed + All chows + All simples, |
A& think the best discard is .



Round 4:13

O

I

e D P
2

@ Next time we got a t| that we let go immediately. Then West discarded
/4

). Shall we make a chow?
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discard g and thereby keep the possibility of Mixed triple chows 678.
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win on a discard?

@ We picked [i. What shall we discard, and do we have enough points to
/4
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Now we have enough points with Concealed + All chows + All simples + 2 x
A& Mixed double chows + Closed wait. Thus we can discard [} and wait for [§.
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East chowed our [[i. Unfortunately, the game ended when West
discarded [/ and South made Mahjong.

Analysis: We managed to get to a wait with a concealed hand + small
points. East went for a rather expected Pure straight, and West got
unlucky as the [g] got dangerous right after we had discarded it.
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Here we come into the game after having discarded several
uninteresting tiles. In the meantime, South has already punged [ | [ ]

and (&[&]&), but fortunately there is only one[#] left, so at least it cannot
be Little three dragons. We have just picked ;i. What is the plan?
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We are just missing one tile for Mixed shifted chows, but then we also
need a pair and a side combination. Even though we have four pairs, we
need all these tiles for the Mixed shifted chows. We can make the side
combination in (2%, or [§[2]%], and we can get the pair by
chowing [}, (3] or (£]. Otherwise we might get a single wait for the pair.

Another option is 7 pairs, but | think that is too far away since we have
such a flexible chow hand. The tile that we have the least use of is ;.

One small detail: we can discard either the |3 that we just picked, or
from the hand. If we make the switch, then we give away the
information that we preferred it before the other tiles that we already
discarded, so in my opinion it is better to discard the tile that we just
picked.
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that South has made a kong [ | | | ]and a pung [#[#[#. What is your
opinion of the situation?

@ We discarded ;3. After three more rounds we picked [@. The bad news is
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like Half flush, but instead one voided suit is quite likely. In any case the
hand will not be very expensive. We want to get rid of (] and [£}, and
both look quite safe against South. The extra |§ can be used in a chow
[£]z]&), but the extra (3] is not really useful, so we can discard it first.

Q South is obviously very close to Mahjong now. However, it does not look
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@ We discarded (3] and the next time we picked 5. What shall we do now?
/4
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If we discard (4], then we wait for [5). But we need to pick it ourselves in
order to get 8 points: Fully concealed (4) + All chows (2) + Mixed double
chows (1) + Closed wait (1). We have also the chance of improving the
hand by picking [I], since then we have enough points on discard.
Another option is to discard | or |5i and go for Mixed straight, but since
there are only two 2] left, that gives a lower likelihood.
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@ We discarded (%) and then East discarded (3], but we could not make

Mahjong since we only have 6 points. Next time we picked [@]. What shall
we do now?



Round 5:8

(I
D e

e|ite|it
§® §® §®

L

®
g%

e D P

o [ 1

is a dangerous tile, but at least we know that it will not be very
A& expensive if South makes a Mahjong. Let’s gamble and discard it.
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Wrong decision! South called Mahjong on our [&|.

Analysis: In retrospect, there are several things that indicates that (&) is a
dangerous tile. South has three main options: Half flush, All pungs, Two
dragons + small points. It does no look like Half flush since South has
discarded jt| and [ at an early stage. If South is going for small points,
then Voided suit is very likely, and in that case, it looks like Characters
since South discarded [g) and [§] after another (before making the kong).
If South has anything in Dots, then it is probably not in the
neighborhood of [ and [}, since those were discarded early. The only
remaining tiles are [£]%)! Elementary my dear Watson, as Sherlock
Holmes would have said. Or is this conclusion too much guided by the
view of all hands...?
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What is your opinion of the starting hand? What is the plan and what
@ shall we discard?
/4
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We have some possible plans: All types, Chicken hand, Pure straight. The
A tile that fit the least into any of those is [F], so we start by discarding

that.
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@ We discarded [F] and then we picked . What shall we do now?
/4
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Many players would go for All types in a situation like this where we
have a pair in winds or dragons, but we are quite far away from Mahjong
i if we do that. We can discard a dragon and see what happens. Then it
will not be so obvious if we decide to go for All types later.
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@ We discarded [ ] and then we picked []. What shall we do next?
/4
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We don’t really have any use for [&), so we can discard it before we
decide to discard the second dragon.

i
§®

L



Round 6:7

T

—

‘ H =
= =
= 74 =
= %
= R =
— i _

%8 —
= —

BREEERRRR

@ We discarded [& and then we picked . Is it time now to discard [&], or
/4

shall we wait further?
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We have too many useful Dots to go for All types (but too few for half
A& flush), so | think it is time to discard % now.
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@ We discarded [& and East called pung. Next time we picked EJ. What
/4

shall we do now?
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We have several different options:

* 7 pairs. 3 tiles away. Need to pick the first two ourselves.

i * Pure shifted chows. 4 tiles away. Need to pick or chow 3 specific tiles
and make a side combination.

*  Mixed shifted/triple chows. 4 tiles away. We can chow or or
pick to improve the hand. We need to make sure that
we have enough points.

« Chicken hand. 4 tiles away. We can chow or or pick
to improve the hand. We can also pung £ or [§]. We
need to make sure that the hand is not concealed.

(continued on the next page)
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These tiles are candidates to be discarded:
. keeps the possibility of 7 pairs and Pure shifted chows. Decreases
i the chance for Mixed shifted/triple chows.
. destroys the possibility of Pure shifted chows.
(cont) . destroys the possibility of 7 pairs and Chicken hand.
. destroys the possibility of 7 pairs and decreases the chance for
Chicken hand.

When considering the options | think we should mainly focus on the
odds for the different possibilities and not look the differences in points.
Speed is more important than a slightly higher value. Therefore, the best
option is to discard |£] in this situation.
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@ We discarded ] and the next time we picked |#|, which we let go
/4

immediately. Then we picked . What shall we do now?
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Let's look at the options again:
A * 7 pairs. 3 tiles away. Need to pick the first two ourselves.

*  Mixed shifted/triple chows. 3 tiles away. We can chow or or
to improve the hand. We need to make sure that we have
enough points.

« Chicken hand. 3 tiles away. We can chow or or i to
improve the hand. We can also pung & or (§. We need to make sure
that the hand is not concealed, and we need to make a pung,
otherwise we get either Mixed double chows or Mixed shifted
chows.

* Concealed hand + small points. 3 tiles away. Need to combine with
Fully concealed and/or All simples + two more points.

(continued on the next page)
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These tiles are candidates to be discarded:
Ai . keeps the possibility of 7 pairs. Decreases the chance of Mixed

shifted/triple chows. The following tiles will improve the hand:
= 12 different tiles (35 physical), 7 can be
(cont) chowed/punged.

. destroys the possibility of 7 pairs and Chicken hand. will
improve the hand =5 different (19 physical), 5 can be chowed.

. destroys the possibility of 7 pairs and decreases the chance of
Chicken hand. will improve the hand = 7 different (24
physical), 6 can be chowed/punged. Note that we cannot chow [,
since we then cannot get 8 points on Mixed shifted chows, and that
we cannot do Chicken hand without a pung of EEE.

It is quite clear that we will have the best possibilities if we discard [ in
this situation. Of course it is difficult to have time do this type of
calculations at the table, but by doing it in an exercise like this will give
you a better intuition when you need to make a quick decision in a real
game.
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@ We discarded i and the next time we picked ii|, which we let go

immediately. North picked and discarded (g}, which East chowed. Then
East discarded (§]. Shall we make a pung?
/4
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Yes, this is a good opportunity to make the pung, discard %] and go for a
Chicken hand. Then we will have 5 different tiles that will give us a wait:
EEEE-]2D. The best would be 3. or [], which will give us a double-sided
wait. Now we have locked ourselves to a specific path and the only thing
that can make us change our minds is if we draw tiles that seem very

dangerous.
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@ We made the pung and discarded [3]. Then we picked and discarded [ .
/4

The next time we picked [3. Shall we discard it or something else?
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We can discard 53, [if or §J and still be one away from waiting. If we
discard [, then we need to pung the last £ and there are only 8 physical
i tiles left to improve the hand. If we discard ;i] then there are 14 physical

tiles left, and if we discard i there are 15 physical tiles left. 3§ is also
safer since East has recently discarded it. Thus, the best discard is [£J.
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We discarded £, but unfortunately the game ended when East
) discarded ||]| and North made a Mahjong with a Mixed straight.

7" Analysis: We had several options, but none of them let us come to a
wait. How you play this type of hand is much a matter of playing style.
Some players would early decide to go for either All types or Half flush,

but in my opinion, you would then often end up with a rather obvious
hand.
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We started by discarding our only honor tile and then we picked a
second [f]. What are our options and what shall we discard?
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Here are the main candidates for the discard: [@[2]]z]2).

[®): 3 away from Mahjong, but 4 away from an 8-point Mahjong. We can go
for Mixed triple/shifted chows. will get us closer to that.
(£): 4 away from Mahjong, but 5 away from an 8-point Mahjong.

. 3 away, but 4 from 8 points. We can go for Mixed triple/shifted chows.
1Py %) will get us closer to that., i.e., same as for [&).

. 5:3 away, but 4 from 8 points. We can go for Mixed triple/shifted chows.
ClEEE2]2]5) will get us closer to that, i.e., same as for [#] except (3.

[2): 3 away, but 4 from 8 points. We can go for Mixed triple/shifted chows.
EE[EEE][2][E) will get us closer to that, i.e., same as for [#] except [E).

| would keep the pung and hope to pick something in connection to
our potential chows. But we need to be sure not to miss 1 point if we don’t
have All chows. The choice is either [&] or [{], but | would discard (] here.
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We discarded [{] and the next time we picked [#J. The last time the choice

was between [@[2]]2]. Are these still the candidates, or are there more?
What is the best plan now?
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We are 3 away from a Mahjong with Mixed shifted chows. We have a

ready chow and can pick or chow [ii. Then we need a chow

or [£[3]E). We can pick any of and then wait for the last tile
of that chow. We also need to make sure that we have enough points.
Either we can get a Closed wait or Concealed hand or improve the hand
with a chow to get All chows, or get a Terminal pung i, or a
kong (2]2]2]Z]. The only tile that is not useful with this plan is (3], so that is
the best discard here.
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We discarded [3] and then West discarded [£]. Shall we make a kong?
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You should never make a kong if you don’t have a good reason why. In
many cases you will open your hand, decrease your possibilities and give
information to your opponents. However, the current situation is an
exception. We are aiming for Mixed shifted chows and we are currently
missing one point. By making the kong, we are guaranteed to have at
least 8 points if we get the Mixed shifted chows.
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We made the kong, in order to secure 8 points if we get Mixed shifted
chows. Unfortunately, we did not manage to improve the hand further,

and the game was ended by East discarding |z and North made a
Mahjong.

Analysis: Again a flexible, but somewhat slow hand. Two things to note
here: 1) Only make a Kong if you really know why. In this case it was
justified by the potential need for the extra point. 2) The combination

gave us four tiles that we could pick to get closer to Mixed
shifted chows.
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We started by discarding our only honor tile, and the next time we
picked (2. What possible plans do we have and what shall we discard?
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We have a flexible hand with several possibilities. The best option is Mixed
shifted chows with either or as the pair, and
BE or on the side. This is 3 tiles away. Then we also have
Pure straight with as the pair and [, or
on the side, and Pure shifted chows with as the
pair and [, or on the side. Both these are 4 away. If we
discard [{f], we keep all these options and also Mixed triple chows
GilE[E, B8, which is 5 away. What we give up is Mixed straight
5[, and Mixed shifted chows 5320, which both are

5 away.
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We discarded [f§, and the next time we picked (@], which we discarded
immediately. Then we picked [5). What shall we do now?
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The best option is still the Mixed shifted chows G, 1f we
discard [z}, we give up the possibility of Pure straight or Pure shifted
chows, or as side combination, but instead we get the possibility
to do Mixed triple chows with or on the
side, i.e., we get 3 extra physical tiles that we can use for our side
combination. There are also the possibilities to pung [&] or |z as a side

i)

combination, so & has still value. Therefore, |z|is the best discard.
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We discarded 3], and then we skip forward some rounds since we got
some quite obvious discards. In the meantime West made a pung
and North made a chow [##]%]§]. Then North discarded 3. Shall we make

a chow, and in that case as or

, and what shall we discard?
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Yes, it is good to make the chow and thus move closer to ready. If we

or (2] and then make a pung or as side combination, which
might lead to a situation where we don’t have enough points if we get
the chow before we get the pung. A better option is to make the
(and go for Mixed triple chows), since then we will always
have enough points and we will have a double-sided possibility for our
side combination with [£[z]. Thus, the best thing is to make the chow
#5311, and discard i3, since then we will not show that we also had the
possibility to make the chow as F=[ii[E.

8:6
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(and go for Mixed shifted chows), we will have to discard
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We made the chow and discarded [z, which was punged by
South. The next time we picked || and discarded it immediately (we still
want to hide that we had a choice before to make a chow with [£). South
punged also our [}]. The following round we picked and discarded [ ], and
then we picked [{§, which might be useful, so we let go of the [&. Then

North discarded [§). Shall we make a chow, and in that case as or
and what shall we discard?
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This is not a trick question — but rather an example of how small
decisions can increase your chances slightly. In this case there is no
difference strictly mathematically if you make the chow or [%]2),
but it affects how the opponents view our hand. If we decide to discard
and wait for [, then it is better for us to have and on
the table, than and F;ifl. In the same way if we decide to
discard [} and wait for [, it is better to have and on the
table instead of and =::[}]. One important detail is that we
cannot hesitate regarding which tiles to put on the table after we have
called ‘Chow’, and that we should have sorted the tiles in advance so
that we can make both chows by picking tiles next to each other, e.g.
sorting instead of (2/3]]£]2). So which chow shall we make?

(continued on the next page)
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| don’t think the 2 extra points for Mixed triple chows matters when making
the decision. Instead, focus on 1) Which tile gives the best chance?, and 2)
Which tile is most dangerous?
For 1) there is nothing that indicates that there is a bigger chance — strictly
mathematically — to get [ or [, but in general the opponents might be
more reluctant to discard a 5 than a 7. But we also need to consider what
we have already put on the table. If we have and =:5]11, then
looks more dangerous than [, but if we have put and on the
table, then both look equally dangerous.
Regarding 2) we have early on discarded ;i and North has more recently
discarded EJ. This in combination with that a 4 in general is more flexible
than an 8, makes i a safer choice.

| think both 1) and 2) indicates that it is better to discard i (and thus make
the chow as [+#%]2]) and sacrifice the 2 extra points.
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We made the chow and discarded EJ. This gave us an immediate
reward since West discarded i for us to make Mahjong.

Analysis: South also could have made Mahjong on i, but we were the first
in turn. If we had discarded [f§, then both South and North could have made
Mahjong! In this hand some small details could become quite important,
e.g. how you sort the tiles in order to chose which chow to put on the table
without giving away information, and the importance of not hesitating
when doing it. It is also interesting to note the we initially decided to
discard [{§, but later when the hand had changed, [{] became an important
tile.
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- e e 5 r = L
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10 | L | ‘TL
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2|11
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16 |
Total [ |
penalties | ______ | | || il
Total
Tahle points




Hand 9
in|®| Round



Round 9:1

O

= =
= =
= =
= C -
— ) 83 4] =
= _ =
= %
= =
g%w
= =

7N selee| 28l — I |=|55| 8 |8 B|8,8]8.8|0R8

@ We started by discarding our only honor tile [¥]. The next time we picked
/4

Z). What possible plans do we have, and what shall we discard?
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The best option is Knitted straight with as the pair and a chow with
either or on the side. Then we are 3 away. Otherwise there is also
a possibility for Mixed shifted chows with as the pair, but that is 5
away. | think we should optimize for Knitted straight and keep both chow
options and open. This is done by discarding (). One small detail is
whether we should discard the [z) that we just have drawn or the one from
the hand? In this situation it is a matter of what information we want to
give the opponents. In both cases we are telling that either we already
have a (3], or that we are not interested in anything in its neighborhood. If
we discard the one that we just picked, we also tell that that tile did not
get us closer to Mahjong. Is that good or bad to reveal? In my opinion it is
most often better to discard the tile we just picked, since then we don’t

give the information that we kept it before other tiles we already have
discarded.



e D P
2

IS

Round 9:3

O

R=24]

[ ]
L

selee| 28l — I |=|55| 8 |8 B|8,8]8.8|0R8

We discarded [3). Then North discarded [#] and South made a pung. Next
time we picked a second [{i. Is that useful to us? Which tiles would be
useful for us to call or pick ourselves?
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The following tiles would improve our hand:

Pick/chow [ or [ and discard ;i or [i.
Chow [ii] and discard [{] or [H.

Pick [53 and discard [:i, [t} (I or [E.

Pick [¥ and discard (1.

Pick (%] and discard [if] or [[1l.

Round 9:4

A=A (&
00

If we pick 3, then we should rather use it for the Knitted straight than in

the side combination, so therefore it could be better to discard |::| and keep
the pair [{I[i to be able to make a pung in either or ([} Thus, the best
discard is .
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Now when we have decided which tiles are useful for us then the game
will be very much on auto-pilot for us. The game continued and we
managed to get one step closer as we picked [, but finally South discarded
and North made Mahjong.

Analysis: We could decide rather early that we should go for Knitted
straight + pair + side combination. The drawback is that we need some
specific tiles, so it might be slow.
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Total 41 -37 36 32 [ x] *
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Total 18 45 3 24 [ x]
o | 18 | &t a2 & 8 k8 & -26
Total &0 53 5 2 [ x|
10 | | -FL
§ Total | [ | H
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12 | |
Total | | | Il |
13 | | | |1 I |
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@ What is your opinion of the starting hand? What shall we discard?
/4
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We have many options of building a chow-based hand, e.g. Mixed
shifted chows, Mixed straight or a Concealed hand + All chows + All
i simples. | think it is best to discard our honor tiles first and see how the
hand develops.
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@ We discarded our two honor tiles and instead we picked two useful tiles:
/4

and (2. What is the plan now and what shall we discard?
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This hand is very ideal for Concealed hand + All chows + All simples. We
have four tiles that we can pick in order to come to a wait: [[}{[z[%], and
regardless of which we pick we will have a double sided wait that always
will give us the two extra points that we need (I leave it as a practice for
you to calculate the small points for those four cases). Thus, we don’t have
any use for [ and [ffJ. Since we know that we will discard both those tiles, it

can be best to get rid of the tile that is most useful for the opponents first,
before it becomes dangerous, in this case 3.
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We discarded ;i and after having picked and immediately discarded [&], we
picked (3. Is that tile useful to us? Are there any tiles that we can pick or call

that would make us change the main plan of doing Concealed hand + All
chows + All simples?
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No, there are no tiles that could make us change the plan — unless anything
becomes obviously dangerous. We hope to pick any of to get to a
i wait. We don’t want to chow any of those tiles, since then we would not
have enough points.
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We discarded the 3] and soon after that we picked |z] and got to a wait, but
unfortunately the game ended by East discarding || for South to make
Mahjong.

Analysis: We got to a perfect double-sided wait for Concealed + All chows +
All simples + 2 more points, but unfortunately South also had a hand that
was quick and difficult to read.
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What is your opinion of the starting hand? What shall we discard?
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Here is an analysis of our options:

7 pairs. 3 away. Need to pick the first two. Can discard [£[5[[1z]%[5).
Chicken hand. 4 away. Need two pungs and 2 chows. Wait for a pung.
Discard (@]2]z]E.

Knitted straight + pair + chow/pung. 4 away. Need 3 specific tiles + a
double-sided chow. Discard [&[:;.

All pungs. 5 away. Can call 4 pungs. Discard [2]5:]i1]z]2]%).

Mixed straight/shifted chows. 5 away. Need 3 chows and pick [#, (I},
or (. Discard (@]#z]E.

All types. 6 away. Need to pick winds and make chows/pungs. Discard

5[5

The tile that will keep most of those options open is probably (5.
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@ We discarded 3], and the next time we picked [{J. What shall we do now?
/4
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The least useful tile is [§. If we discard that, we have still the same options
open as before and the chances of Mixed straight/shifted chows, and

Chicken hand have increased.
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We discarded [§] and North made a chow. The next time we picked [,
which we discarded immediately. Then South discarded [I]. Shall we make a
chow, and in that case what shall we discard?
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If we make the chow, we will give up the possibility of making 7 pairs, but
we will get closer to Mixed shifted chows and Chicken hand (also 3 away).
Those hands are probably faster since we can call chows and pungs. The
drawback is that we either need to make sure that we have enough points
(Mixed shifted chows) or no points at all (Chicken hand). The best discard
is (8], since we cannot use that for a pung in a Chicken hand, whereas [g] can
be punged and [#] might be more flexible.

=
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We made the chow and discarded [@]. The next time we picked [¥], which we
discarded immediately and then we picked [fi]. What shall we do now?
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The extra |[]] might be useful in a pung or a pair, and the second g could be
used as a pung in a Chicken hand, but we currently have no use for the (4,

so that is the best discard.
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We discarded [ and then North discarded [ ]. Shall we make a pung?

53]

L



e R

£

Round 11:10

T

-

%) 664

)6 @)%/

EHE
L

HHEEEEE

Yes, if we make the pung we are one step closer to Mixed shifted chows,
and the dragon pung gives us the two extra points that we need. We can
either discard 3 or 2. It seems more likely that North is doing something
with mixed chows, than something in Characters, so |53 is probably slightly
more dangerous. Is it better to keep the dangerous tile as long as possible
or discard it as soon as possible? Since we are quite close to waiting and
thus probably will discard both those tiles, | would prefer to discard the
more dangerous tile first before it becomes even more dangerous.
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We made the pung and discarded [i3. The next time we picked and
@ discarded . Then South discarded [%). Shall we make a chow?
/4
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If we make the chow (and discard (g)) we will probably have to pick ] since
most likely, no one will discard 3] (or [£)). The advantage is of course that
we will come to a wait. Another small advantage is that it could also look
like we are waiting for all types, but in both cases, it would look like
anything close to the |§] is dangerous. On the other hand, if we don’t make
the chow, we need to pick the %] or £ ourselves first. The advantage is that
it is more difficult for the opponents to see what we need. There is also
the possibility that we will get the chance to chow g and then they might
not think that we need [%). This situation is very much a matter of playing
style. In any case, it is very important that we do not hesitate before
making the decision. (If we do, then we might as well make the chow, since
it was obvious that we could do it.)
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We decided not to make the chow (and no one noticed that we hesitated).
Then we skip ahead a few rounds where the only interesting thing that
happened was that we picked [#] and discarded (. (@] could be useful for
All types if we pick another, and also for pretending like going for All
types.) We also picked (3], which we discarded. Then South discarded [E).
Shall we make a chow?
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This development is ideal — at least almost. If we make the chow and

ﬁ discard [#), it could look like we are going for All types and have a single
i wait for a wmd Unfortunately, this was destroyed when we discarded [3).

Now it only looks like Mixed shifted chows. However, we are in a better

position than before, since there are four different Dot tiles that look

dangerous: £]%):i], and could seem to be the most dangerous among

them.
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We made the chow and after a couple of rounds North discarded [ so that
we could get our Mahjong.

Analysis: Of course this example does not prove that it was the correct
decision not to chow %/ in the first time, but at least it shows the difference
in what the opponents can tell about our hand and what tiles they might
be willing to discard.
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We start this game with a quite mediocre starting hand. What do you think

about the situation, and shall we make a chow with the [§] that East initially
discarded?
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Tough situation. | am not sure what is the best thing to do here, but with a
poor starting hand it is easy to feel stressed and start calling anything that
comes in your way. In this case | think we anyway will need to have a chow
[§]2]%) - either for a Mixed straight, or as a side combination to Mixed
shifted chows. There are also possibilities for Chicken hand or All types if
the hand develops in any of those directions. Therefore, | tend to want to
make the chow. We can discard || or one of the honor tiles, and in that
case Bt first, since it will only give one point as a pung for All types.
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We made the chow and discarded [t. Then West discarded [ ], which
was punged by East. East discarded [g]. Shall we make a chow?
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No, | don’t think so. That would not really get us closer to Mahjong and it
will destroy the only pair that we have.



L
2 1)

Q

Round 12:5

O

35 =

=

o) x WE%
%) 85 [# =

=

=

=

=

=

g (8 BY3EQ)EEE == |

We did not chow the [£. Instead we picked 3. Shall we discard our last two
honor tiles, or keep them for another while?
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Our best option is still Mixed straight. Since it looks like East might be
going for either Half flush or All types, the honor tiles might become
dangerous. | think it is best to get rid of them before they become more
dangerous.




L
2 1)

IS

Round 12:7

O

sk BelEe
L

13/
&)
Qe

|| (%
EDRH
AR RE

We discarded our honor tiles, first (4] and then [&], and then also [, which
was chowed by West. In the meantime we have picked two useful tiles:

and . Then East discarded another [£]. Is this a better time to make the
chow?
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Now that we have a pair and a chow [}]#]E], it suits us better to make
the chow. We don’t have much use of [/ anymore so we can discard that.
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§
@ We made the chow and discarded (3]. Then East chowed %] and discarded
/4

(. We have just picked ;. What shall we do now?
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Previously in this game, there has not been a clear answer what was the
A& best thing to do, but here we do have a best choice: discard |si| and hope to

pick any of to get to a wait.
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@ After a couple of rounds we picked || and could thus discard & and wait
/4

for . Meanwhile East has chowed [ and discarded [#). Next, we picked [#].
Do we dare do discard it?
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So, how dangerous is this situation? | would say that it is almost 100% sure
that East has a single wait for either |#| or |&| to the All types. East has made
two chows and discarded it) and [%] and has in between discarded the same
tiles as were picked. It is not very likely that East does not have a ready
combination in Characters, since several of them were discarded early.
Thus, it is in principle a 50% risk to discard %] in this situation. Is it worth to
take that risk? How should you think? In my opinion, this is something of
the most difficult things in MCR. MCR is a much more offensive game than

e.g. Riichi, but you still need to decide when to choose to gamble, and
when not.

(continued on the next page)
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These factors will affect your decision:

* How big is the risk that the tile is the winning tile?

* How much is the opponent’s Mahjong worth?

* How big is your chance of winning?

*  How much is your Mahjong worth?

* What is the situation in the game (scores, hands left etc.)?

| have tried to summarize some basic principles for situations like this. Of

course it is difficult to make exact calculations, but here are some

thoughts:

* If you pay the Mahjong you will lose at least 48 points compared to the
winner (4 x 8 + 2 x value), and you will lose the value of the Mahjong
compared to the other players. But if you defend and do not pay, you
will still lose at least 40 points to the winner (4 x 8 + value).

* Ifitis better to pay to the dangerous player, than that someone else
makes the Mahjong, then it is correct to take the risk, e.g. if the
dangerous player is far behind (or far ahead).

« Ifitis worse to pay to the dangerous player, than that someone else
makes the Mahjong, then you should not take the risk.

e Otherwise your hand should be worth at least as much as the
dangerous hand, and your chances of winning should be at least as
good as for the other players (after you have successfully discarded the
dangerous tile), i.e., in most cases you should have come to a wait and
the wait should be good.

So, what shall we do in the current situation? Our risk of discarding the
winning tile is close to 50%. The dangerous hand is cheap, but so is ours.
The situation in the game is tight, so it does not really matter which of our
opponents that wins. Our chance of winning (if we survive discarding [&)) is
pretty good, since we have a wait that is not obvious. | think it is a close
call, but I would tend to defend here. If we discard the two i (which might
be dangerous for West and North), we still have a chance to improve the
hand. If we pick another % we can make a Chicken hand, or if we first get
to make or pick a chow [iii, we can self-pick the single wait for [#].
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We discarded [, and since that went well, we could discard the other
the next time. Then we picked (3] and (], which also seem quite safe to

discard, so we could let them go as well. The game ended by East
discarding i and North made Mahjong.

Analysis: In this game we would have lost if we had discarded [&). In that
case the results would have been East +33, South (us) -17, West -8, North
-8. Instead it became East -22, South (us) -8, West -8, North +38. The main
difference was that North got the Mahjong instead of East, but for us the
difference was only the value of the All types that East would have had. In
this situation, the total scores in the game might be more important than
our chance of winning when deciding if we should take a chance or not.
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A quite mediocre starting hand, but there is potential for some different
combinations, e.g. Chicken hand, All types, Mixed shifted chows or Mixed

i straight. We can’t see any real use for %], so we can start by discarding
that.
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@ We discarded [4], and the others also discarded wind tiles. The next time
/4
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we picked [ ]. What shall we do now?
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Now we have come 4 away from All types, but we need to keep other
options open as well, e.g. Chicken hand (4 away), Mixed straight (5 away),
Mixed shifted chows (5 away). If we want to keep [ ], we should discard
one of the ones, but which? For All types we have a good combination in
FI[IE], so it is not likely that we need (@] to that. For a Chicken hand there is
a risk that we cannot use [@ if we also make a chow [:3lI[]. For a Mixed
straight we need a chow in either or [®[}]&. Thus, the best discard is
in this situation.
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@ We discarded [@), and then we picked [E. What shall we do now?
/4
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We have now 4 pairs, so 7 pairs is also an option. 7 pairs is only 3 away, but
then we need to pick two pairs ourselves first before we get to a wait. The
# or [z). Which is the best? In both cases we are
equally far away from using them in a Mahjong (5 from Pure shifted
chows, or 5 from Mixed straight). For Pure shifted chows we need to pick
tiles for both and [, whereas for Mixed straight we need to pick
tiles for and then we can chow [{ and [ii]. Further, there is already
one {# at the table, so there is a smaller chance to use that for 7 pairs. In
this situation | don’t think it matters that Pure shifted chows gives a few
more points, so the best discard is |#.

£




Round 13:7

T

= E=
= =
= =
E =
= %
~ =
= =
= =
= -

a =

We discarded @), and then we picked [£]. What shall we do now? You can
@ also think about which tiles you would pung or chow with this hand.
/4
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We have several possibilities that we want to keep open. Chicken hand and
All types are both 4 away. We also have 7 pairs, which could perhaps also

i turn into All pungs. Then we can also make Mixed shifted chows, but that
is further away. If we decide to open the hand we should keep as many of
those options as possible open, e.g. if we make a chow or pung in Dots or
Characters, then we can still go for either All types or Chicken hand, but
then we have closed the door to 7 pairs.

The tile that we have the least use for is [3).
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@ We discarded [z}, and then we decided not to pung [. The next time we

picked another [z}, which we discarded immediately. Then East discarded
bt). Shall we make a pung (and in that case, what shall we discard)?
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Q If we make the pung in this situation, there is a risk that we will end up

having an obvious single wait for[ . | would prefer to go for Chicken hand,
since then it is more difficult for the opponents to see what we are waiting
for. And if you compare the chances for All pungs and 7 pairs, it is most
often best not to pung if you don’t already have a pung.
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@ We decided not to make the pung and after a few rounds we picked 5.
/4

What shall we do now?
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Now we are in a situation where we need to make a choice and give up
some of our options: 7 pairs (discard from one of the pairs), All types

i (discard [ )), or discard e.g. & and go for Mixed shifted chows together with
7 pairs. | think the best option is to discard [ ]. Then we keep the
possibilities for Chicken hand, 7 pairs and Mixed shifted chows, which all

are more flexible than All types, and probably more difficult for the
opponents to read.
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@ We discarded [ ] and then East discarded [ii. Shall we make a chow, and in
/4

that case, what shall we discard?
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If we make the chow (&[3[l, then we only need a chow 2]%]3)to have
Mixed shifted chows. We also need another combination + a pair, e.g.

+ ptJst], i.e., if we make the chow, we are only 2 away and we can
chow both those tiles. The problem is that we will risk to get a bad wait.
E.g. if we get a chance to chow (or pick) [z, then we need to self draw [ to
have enough points. Alternatively, if we first get to chow (or pick) (3, then
we can win on g] for a Chicken hand. But if we are going for chicken hand,
we already have and have the chance to pick something that fits
together with e.g. [ or (Z]. I think it is best not to make the chow here and
instead wait until we pick something that will make the hand go in a
certain direction.
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We decided not to make the chow, and in the next round everybody picked
@ a tile that was discarded immediately. Then we picked a third (). What

shall we do now?
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Now when we have a pung [£[2[), we are closer to All pungs, but we still
want to keep the possibilities for 7 pairs and Chicken hand open. Therefore
we do not want to destroy any of our pairs or the ready chows and
(which also has the potential to become two chows). Further, if we

go for Chicken hand, we cannot both have the pung and use [§ina
chow, since then we will either have tile hog of (2] or a Mixed double chow

+ EEl. Thus, the best discard is [2).

£



Round 13:17

T

' N /.57 M/@'?M

i
§®

L

e D P
2

£ HHERE

@ We discarded [§], which was punged by North. Then we picked [ ], which we
/4

discarded immediately, and next East discarded [i7. Shall we make a chow?
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Q It would have been nice to make a chow F=[ii[&], discard [ and wait for 3

to complete a Chicken hand. Unfortunately, ;) has become last tile, so we
cannot do that (and [& would give a Double chow). Thus, we should not
make the chow.
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@ We did not chow ;3. After a couple of rounds we picked [{J. What shall we
/4

do now?
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Now we are one step closer to Chicken hand, so in order to follow that
A& path, we discard [J.
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We discarded [, and then West discarded [¢] and North made a chow.
@ North discarded [g). Shall we call it?
/4
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Yes, we should say ‘pung’ and discard the same tile |%] again (this “swap-
calling” is allowed in MCR, but not in e.g. Riichi). We are waiting for a
Chicken hand, but we need to open the hand in order not to have points
for Concealed hand. Now we have a double-sided wait for [ or . We

have made it obvious to our opponents that we are going for Chicken
hand, but it is still difficult for them to see what we are waiting for.

Note that we could also have made a kong and hope to win on the
replacement tile, but then we only have a one-shot chance, so going for
Chicken hand is a better option.
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We made the pung and discarded the same tile |§] so that we could wait for
a Chicken hand. Unfortunately, the game ended by us discarding |§ for
West to do Mahjong.

Analysis: If you have a pair in winds or dragons and some tiles of the other
kind, you can often keep the possibilities for both All types and Chicken
hand open for quite a long time. | prefer to do this than to rush into All
types by making the pung early. It will in many cases be more difficult for
the opponents to see what you need for a Chicken hand than for All types.
In both cases you need to be careful to make sure that you get no points,
or enough points, respectively. In this case we got to a nice double-sided
wait for a Chicken hand, but ended up discarding the winning tile, which
was not easy to see.
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@ What is your opinion of the starting hand? What shall we discard?
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Mixed shifted chows is the most realistic option. We can make a chow
[£[z]5), and or 3115, and [ EE, ELEE, or ,and we have also
two pairs and possible terminal pungs @]#) and [l The (2] might become

useful later, but we have no real use for the honor tiles, so we can start by
discarding them.
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We decided to discard our honor tiles first. In the first round we picked (3,
and before our next turn North discarded [&. Shall we make a chow?
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Q No, the hand is too flexible to lock for a certain combination at this point.
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@ Instead we picked [%). What shall we discard now?
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Mixed shifted chows is still the main option, and we have got a new
A& candidate for our side combination in £]%), so then we don’t have any use
for 3.
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We discarded [§}, which was chowed by South. The next turn we picked
another [, which we discarded immediately. Then North discarded ).
Shall we make a chow, and in that case what shall we discard?
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There is one specific tile that we really need for our Mixed shifted chows,
and that is (3]. | think it is worth to open the hand and make the chow. We
don’t need to have two [, since we already have a pair in [#, and it is likely
that our side combination will be using [£]%), so we can discard a [f.
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@ We made the chow and discarded [ffl. Then South picked and
/4

discarded [&), which was punged by North. North discarded ;3. Shall we
make a chow, and in that case what shall we discard?
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Yes, | think it is good to make the chow since it takes us one step closer to

Mahjong, and it doesn’t make the hand that much easier to read. But what
i shall we discard? The choice is between [}] and [fll, but if we discard [}, we

can only use [, whereas if we discard [] we can use both [ and . Further,

if we discard [ we can still use both ;) and &, so the best discard is clearly
BEE
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BEBJ*
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We made the chow and discarded [[fi. The next time we picked and

discarded [&]. Then West discarded £ and North made a chow. North
discarded . Shall we make a chow?



Round 14:12

Hﬂﬂ]ﬂﬂﬂ]ﬂﬂﬂ]ﬂﬂ]ﬂ[ﬂ]ﬂ[ﬂlﬂﬂﬂlﬂﬂﬂlﬂﬂlﬂﬂﬂlﬂﬂﬂﬂﬂ]ﬂﬂﬂ]

BHE

L

E3 (2[&]9)
@

B

)
S99
=)

I

BBB|HEE
BEE|BEB

BBB
A
& [\

BEE
Bgg
B

@) (BERYBEE

FoEE ()
' E ) BR8]

Yes, make the chow and discard [{]. Now we are waiting for ag It is st|II
A& not obvious what we are waiting for. It could be either [:3):: or [ 1.
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We made the chow and discarded [fJ. The next time we picked and
discarded [&). Then West picked and discarded [z} and North made a chow.
North discarded [#]. Then we picked 3, which should be safe against North,
but maybe dangerous against the others. We discarded it anyway, and
South made a chow [:[=[:i. Then South discarded a dangerous ;3. North
made a concealed kong and has now one single tile left. The next time we
also picked 3, but unfortunately it is not Last tile yet (Last tile + All chows +
Mixed double chows + Self picked = 8 points). South once again played
dangerously by discarding [ ]. Then we picked [§] which we discarded
immediately. The others also picked and discarded the same tile and then
we picked [&]. Shall we discard it?
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It is quite obvious that North has a single wait for [&. North made a chow
and discarded [}, and after that North has made a kong and all the time
i discarded the same tile as was picked. And since South then has discarded
[ ], itis quite sure that the single tile is [&]. Thus, if we discard [&, we will
lose. It might still be a good idea to give the Mahjong to North, but that
depends on the total score in the game. In this case it is a tight game, so

we decide not to give it away and since |# seems to be safe, we can discard
it.
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We continued to play safe tiles, and after a while the game ended when
South self-picked iz for a Mixed straight.

Analysis: North had a very obvious single wait for [&], and we decided not
to give that tile away. One risk by abandoning your hand like that is that
the chance for the other players to self-draw increases, which was what
happened in this case. Depending on the scores, it might be OK to give
away the winning tile to a cheap Mahjong — especially if that opponent is
far behind.
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We started this hand by deciding not to pung 3] and instead we picked ().
What is your opinion of the starting hand? What shall we discard?
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We have some different options, e.g. Mixed straight, Mixed shifted chows,
Chicken hand, Outside hand, Knitted straight. The two least useful tiles at
the moment are probably [£] and (). | would discard (3] first, since there are
more tiles left around £] for outside hand, and |%] could also be used for
Knitted straight.
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We discarded ] and then East discarded [+ and South made a pung. Next,
we picked [fJ. Which tile is the least useful, [} or[Z], or another tile?
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Q Now we have one main option: Knitted straight + pair + chow. This is 3

away and we need to pick 2 specific tiles and make a double-sided chow

with (z] or (). We can discard [}], &

options which all are 4 away:

« Mixed straight, 2 specific tiles to chow, need to pick [iE. Discard [i.

* Mixed shifted chows, double sided chow + one of two 789 can be
chowed, Need to pick for the third chow. Discard (%] or (. Need to
make sure that we have enough points.

« Chicken hand: Double sided chow + edge wait [{&] + need to pick for
another chow. Cannot have double/terminal chows, edge/closed wait.
Discard (%].

| think the most flexible is to discard [%|.

or [if. Then we also have three other
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@ We discarded (%] and the next time we picked (%], which we discarded
/4

immediately. Then we picked [z). What shall we do now?
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Now we have got the side combination for the Knitted straight, so we need
to pick () or [[f] to get to a wait. We can discard [ or [f. [ is probably more
likely to become dangerous later, so | think it is best to discard it as early as
possible.
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The game continued, but unfortu
discarded &

B 188888
B BB B)BEE

nately, we did not get any closer. South

Analysis: At least we did not discard [[§ to Wests Pure shifted chows.
Playing for Knitted straight could sometimes be slow, since you need to
pick specific tiles, but once you have come to a wait in can be difficult for
the opponents to see exactly what you need, especially when you are just

going for Knitted straight and not

Knitted + honors.



Round 15:8

Scores after hand 15

UPPSAIA HARIONG o

Player 1 Flayer 2 PFlayer 3 PMayer 4
E A S| ' & wus |af » [T
Fiund Hasd Vel T o fenrs — Sears — Leorm frore . Mekatizn
1| 1 |[af 1| -19 | 2 | 8 | 35 [ x|
2 [ 2 J[a] 2] -8 -34 -8 50
Tatal 27 22 16 85 [x] ll_'Ll
HENEN B EN 18 = 34 3 ,,,_T
Total 45 50 18 77 [x] &
a| 13 [[1 3| 37 -5 -21 2
Total 8 58 3 69 [ %]
s 9 Jlailf3 & 33 k8 & a7 &8
Total 25 66 20 61 L%]
6| 13 |[2] 1] -21 37 -8 -8
Total 4 -29 -28 53 [ x| g—ﬂ
H e e s 5 5 = L
Total a1 37 36 2 x| %
8| 15 [ 3] 2] -23 -8 EE] -8
Total 18 45 3 24 [ x]
o | 18 [[o & 4 I 8 W 26
Total 60 -53 5 2 [ x|
w| u [[2] a] 8 35 -8 -13
% Total 52 -18 -13 21 [ x| @
S | 13 |3 a] 8 -8 37 -1 %
Total 1 -26 24 -42 [x]
12| 14 [[2 1] 22 EL: 2 I
Total 22 [ 12 | 16 [ 50 [ ]
B u 1] 3][F = I & 13 [& = [
Total 57 4 -3 58 [ %]
1| 16 [[1] - | 72 -24 -24 24
& Total 129 -20 27 82 [ x]
3 15 w |[af 2] 4 a8 £ =
Total 121 -38 -35 43 [x]
o [ ]
Total [ |
penalties | ______ Al | I | i
Total
Table points
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This is the last hand of this game. The scores are: North +121, West (us) -
@ 35, East -38, South -48. What are your thoughts about the scores and the

starting hand?
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We have four possible outcomes of this game:
A If we win big, we can pass North and win the game.

1)
2) If we win a cheap hand, or if North wins self-drawn or from one of the
3)

others, we will become second
If East or South wins self-drawn or from one of the others, or if we pay
at most 12 points to North or East, we will become third.
4) If we pay to South or pay 14 points or more to North or East, we will
become last.
(continued on the next page)
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How big hand do we have to get in order to win the game? The difference
between us and North is 156 points. The formula to use in this situation is
based on the number 32.

First, we subtract 32 from 156, which gives 124. This is how many points
we need from any player. Then we divide 124 by 2 = 62, which is the
number of points needed if taken from North. Finally we divide by 62 by 2
again = 31, and this is how much we need self-drawn. (Note that you need
to round up after each division, in case of odd numbers.)

So what realistic chances to we have in order to get that many points? We
have four pairs, so 7 pairs is a possibility. That would give 24 points, and if
we do it self-drawn, we get Fully concealed, which is 4 more points. Then
we can do All simples for 2 more points, and if we get at least one flower
we have 31 points. Another option is Four concealed pungs, which gives 64
points and would be enough also taken from North. We want to keep
these options alive, and at the same time also be able to go for a quick
Mahjong to secure the second place. Then we also need to make sure that
we don’t pay the Mahjong and risk to come last. It is important to do these
calculations of how many points you need before the last hand of the
game.

For a quick hand, we have possibilities like Mixed shifted chows, Mixed
straight, All Pungs, or Concealed + All chows + All simples.

We don’t have any use for %] in any of the plans above, so let’s discard that
tile first.
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@ We discarded [#], and the next time we picked [}]. What shall we discard?
/4
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It is more likely that we will become last, than that we will win. In both
cases the difference is two points, so we should go for a quick Mahjong,
but keep the possibility for the big hands open as long as possible. In the
current situation, the best chance is Mixed shifted chows BEE
[ We can also make a Mixed straight, but then all the pairs will be
used in the chows. There are also possibilities to make 7 pairs, All pungs,
Concealed + All chows + All simples. The choice is between discarding [ or
(7], but since the [l can be used either in a side combination or in Mixed
straight, it is better to keep it and discard [I).

<
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@ We discarded [I], and the next time we picked (], which we discarded
/4

immediately. Then we picked [§). What shall we do now?
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The question is if we still want to keep the chance for 7 pairs and All pungs,
or if we should optimize our chances for a chow-based hand. Or to put it in
another way: shall we give up our chances to win the game and go for the
best chance to become second?

| think the sensible play is to go for the chow-based hand now, and then
the best option is Mixed shifted chows 2]2]3), EEE, with as the
pair and either or as basis for the side combination. Thus, we can
discard one of the (g).

~
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We discarded [g), in order to optimize the chances for a chow-based hand,
which means that we, in practice, have given up the possibility to win the
game. The next turn we picked [#J, which we discarded immediately. Then
South discarded EJ. Shall we make a chow, and in that case, which chow
shall we make and what shall we discard?
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Yes, we can make the chow & as the side combination to our Mixed
shifted chows. Then we can discard either ] or [§]. There is no clear clue of
i what is best, but | would keep [§] and discard [z}, since that makes the hand
more flexible if it develops in another direction.
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We made the chow and discarded (). The next two turns we picked
two honor tiles, which we discarded immediately. Meanwhile East has
discarded [ and South made a pung. Then we picked another [§]. What
shall we do now?
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Now we have got the possibility to go for either Mixed shifted chows or
Mixed straight, and we don’t have any use for two [£] anymore.
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We discarded [£] and the next turn we picked and discarded [ti, which was
chowed by North. East picked and discarded [z}, which South chowed. Then
south discarded [. Shall we make a chow, and in that case what shall we
discard?
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Yes, we should make the chow in order to get to a wait, but then we can
discard either (] or [J. When making that choice, we need to consider the
following:
1)  Which tile is most likely to get, [&] or []?
2)  Which tile is most dangerous to discard, [£] or [:2?
3) Isthere a bonus chance of a Last tile on (2] or [2?

Note: In this situation we should completely disregard the fact that Mixed
straight is worth 2 more points than Mixed shifted chows:

1, 2) One | has already gone, so there are more @ left. But how likely is it
that the other players will discard those tiles? It is difficult to figure out
exactly what North and South are doing, but some kind of Mixed chows
seems likely.

(Continued on the next page)
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It also doesn’t look like North is going for Half flush, since so many honor
tiles were discarded early. In that case neither North nor South will need
(South would probably have made a chow instead of a pung in that case).
It looks like East is going for Knitted and honors. If that is the case, we can
know that is not included, since East discarded a [:J and we can see
the other three. Thus it is very likely that East will discard @) if that tile is
picked. Further, if we discard [:Z, the other players will also see that East
doesn’t need for Knitted, and thus it is also more likely that they will
discard (&),
3) We cannot get Last tile on [:Z, since all are gone and if we get Last tile on

(2], we will not have enough points (not even self drawn). But it is always
good to check this extra possibility.

Thus, | think the best discard is ;.
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We made the chow and discarded (3. The next time we picked [#], which
should be safe at least for East, so we discard that immediately. Then East
discarded |® and we got our Mahjong, which gave us the second place.

-

Analysis: Before the last hand of a game, it is important that you calculate
how many points you need in order to pass the opponents. It could also be
good to calculate what the others need in order to pass you, so that you
can figure out if they are going for big hands, self-drawn, or fast hands.

In this specific hand it was possible to figure out that East was going for
Knitted + honors, and that East for sure would discard (&) if that tile was
picked. We also had the benefit of being able to use this information when
deciding which tile to wait for. This is quite rare in a game of incomplete
information like Mahjong, so | think that was a beautiful ending of the
game.
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1| 1 ||a] 1] -19 | -8 | -8 | 35 [| %]
2| 26 |[a] 2 | -2 -34 -8 50
Total 27 42 -16 25 [ | ‘Hi|
Bls o 2] 18 2 34 3 4_1'
Total 45 50 18 77 [%] 1
a| 13 [[1 3| 37 -8 21 8
Total -8 -58 -3 63 [ x]
SHEENEY EREEEE ; -8 &k 17 o -8
Total 25 66 -20 61 | x|
6| 13 |2 1] 21 7 -8 -8
Total 4 -29 -28 53 [ %] g—P
H e 5 5 = L
Total 41 -37 -36 32 [| % | *
s 15 |[3] 1] 23 -8 39 -8
Total 18 -45 3 24 El
o | 18 |[a] & 4 & B B8 d  -26
Total 60 53 5 -2 [ |
w| u J[2] a] 8 35 8 -13 -
% Total 52 -18 -13 21 [| % | @
=lul 13 |[3] a] 2 8 37 21 *
Total 44 -26 24 43 El
12| 1 [z 2| -22 g -8 -8
Total 27 | 12 | 16 | -50 [| |
13| u |1 3]@F 35 | % 13 [+ = |
Total 57 3 -3 58 El
1| 16 |[o] -] 72 -24 -24 -24
£ Total 129 -20 27 82 [ ]
3 15 w |[af 2] - a1 P =
Total 171 T -35 -48 [ |
16 11 |[3] a] 4 . = s
Total 113 -46 0 &7 L |
Penaities | ______ A | || J
Total 113 -46 0 -67| x
Tahle points 4 1 2 D



summary

Just like in a real game of Mahjong, there are situations where there is no
correct answer to what is the best choice, and sometimes you make the best
choice but get unlucky and lose anyway. In this game | think we had many quite
interesting situations, even though we did not always make the winning
choices. At least | have found it useful to go through these situations in more
detail, which you can do when you are not forced to make fast decisions, as
you are at the table. | hope you also have found this interesting and inspiring —
but please don’t use it against me at the tables ©

If you do not agree with the choices made or have other views on how to play
in some certain situations, then | would love to hear your thoughts. You can
contact me, e.g. by email to petter@rainfall.se or via Facebook.

Petter Ranefall, Uppsala 2020
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